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ÍÛæ̃ Û¶ÛÛ : (1) ›÷ÄõÁõ ›÷̈ ÛÛýÛ ©ýÛÛ× ÍÈÛ˜™ö …ÛïèõÜ©Û þùÛéÁõÛé. 

   (2) ¸ÛÁõà“ÛÛ¬Ûâ…Ûé ¶ÛîÉÛÛïèõÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÉÛé. 

 

1. ½ÛÛÁõ©Û¶ÛÛ –Û‹ …¶Ûé ¦øÛ×•ÛÁõ¶Ûà ”Ûé©Ûà ¾ÛÛ¤éø¶Ûà ½ÛÛíé•ÛÛéÜÅÛïõ …¶ÛäïäõÇ©ÛÛ…Ûé ÈÛ¨ÛÙÈÛà, ©Ûé Š©¸Û·Û ïõÁõ©ÛÛ ¸ÛóþéùÉÛÛé 
›÷¨ÛÛÈÛÛé.   14 

…¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¾ÛÛ× ïäõþùÁõ©Ûà ÈÛÛýÛä …¶Ûé ïäõþùÁõ©Ûà ©ÛéÅÛ¶ÛÛ Š©¸ÛÛþù¶Û …¶Ûé Š¸ÛýÛÛé•Û ÍÛ×þù½Ûë ½ÛÛíé•ÛÜÅÛïõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 

2. ½ÛÛÁõ©Û¶ÛÛ ¾Ûä”ýÛ …Ûíé²ÛéÜ•Ûïõ ¸ÛóþéùÉÛÛé ›÷¨ÛÛÈÛà …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û…Ûé¶Ûà ¾ÛÛÜÐü©Ûà …Û¸ÛÛé. 14 

…¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¶ÛÛ ÁõÍÛÛýÛ¨Û …¶Ûé …é¶œ÷¶ÛàýÛÁõá•Û Š²Ûé•Û ¸ÛÁõ ÜÈÛÍ©Ûè©Û ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 

3. ½ÛÛÁõ©ÛàýÛ …¬ÛÙ©Û×ªÛ¾ÛÛ× ¸ÛÜÁõÈÛÐü¶Û¶ÛÛé ÉÛä× ºõÛÇÛé ™öé ? ©Ûé ¸Ûíéïõà ÁéõÅÛ¾ÛÛ•ÛÛë¶ÛÛé ÜÈÛïõÛÍÛ ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé. 14 

…¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¶ÛÛ ¸ÛÜÁõÈÛÐü¶Û ¸ÛÁõ ½ÛÛíé•ÛÛéÜÅÛïõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 

4. ½ÛÛÁõ©Û¾ÛÛ× …Û×©ÛÁõÁõÛšýÛ Í¬ÛÇÛ×©ÛÁõ ¸ÛÁõ ÜÈÛ•Û©Ûé ¾ÛÛÜÐü©Ûà …Û¸ÛÛé. 14 

…¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¾ÛÛ× ÈÛÍ©Ûà•Ûà˜Û©ÛÛ …¶Ûé ÜÈÛ©ÛÁõ¨Û ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé. 

 

5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé. 7 

 (1) ¦øÛ×•ÛÁõ¶ÛÛ ¸ÛÛïõ ¾ÛÛ¤éø _____ ÍÛÁéõÁõÛÉÛ ÈÛÁõÍÛÛþù ›Ûé̂ …é. 

  (a) 200 ¬Ûà 400 mm  (b) 1000 ¬Ûà 2000 mm 

  (c) 500 ¬Ûà 1000 mm (d) 2000 ¬Ûà 4000 mm 
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 (2) ½ÛÛÁõ©Û¾ÛÛ× ”Û¶Ûà›÷¶Ûà ´ùÜÌ¤ø…é _____ ¶ÛÛé Š˜˜Û¸ÛóþéùÉÛ ÍÛÛíé¬Ûà ÈÛµÛä ÍÛ¾Ûè±ù ™öé. 

  (a) ¾ÛÛÇÈÛÛ   (b) Ü©Û¼Ûé¤ø 

  (c) þùÜ“Û¨Û   (d) ™öÛé¤øÛ¶ÛÛ•Û¸ÛäÁõ 

 (3) ½ÛÛÁõ©Û¶Ûà ”Ûé©ÛÁõà ¸ÛÜÁõýÛÛé›÷¶ÛÛ _____ ¶ÛÛ Š©¸ÛÛþù¶Û ¾ÛÛ¤éø ™öé. 

  (a) ÅÛÛé”Û×¦ø   (b) ©ÛÛ×¼Ûä 

  (c) ÍÛÛé¶Ûä   (d) ¾Ûê•Û¶Ûà¡ö 

 (4) _____ ÁõÛšýÛ¾ÛÛ× ¸Ûé¤ÖøÛéÁõÍÛÛýÛ¨Û Š²Ûé•Û ¾ÛÛ¤éø …ÛþùÉÛÙ ¸ÛÜÁõÜÍ¬ÛÜ©Û…Ûé ¾ÛÇé ™öé. 

  (a) ¾ÛµýÛ¸ÛóþéùÉÛ   (b) ¸Û×›Û¼Û 

  (c) •Ûä›÷ÁõÛ©Û   (d) Š«ÛÁõ ¸ÛóþéùÉÛ 

 (5) ½ÛÛÁõ©Û¾ÛÛ× ÁéõÅÛ¾ÛÛ•ÛÙ¶Ûä× ›ÛÇä _____ ÁõÛšýÛ¾ÛÛ× ›ÛéÈÛÛ ¾ÛÇé ™öé. 

  (a) ¸ÛÜÊ˜Û¾Û ¼Û×•ÛÛÇ  (b) ¾ÛÐüÛÁõÛÌ¤Öø 

  (c) Š«ÛÁõ ¸ÛóþéùÉÛ   (d) •Ûä›÷ÁõÛ©Û 

 (6) ÍÛé¶ÍÛÍÛ 2011 ¸Ûó¾ÛÛ¨Ûé ½ÛÛÁõ©Û¶Ûà ÍÛÛíé¬Ûà …Ûé™öà ÈÛÍ©Ûà•Ûà˜Û©ÛÛ µÛÁõÛÈÛ©Ûä ÁõÛšýÛ _____ ™öé. 

  (a) ¶ÛÛ•ÛÛÅÛé¶¦ø   (b) ÜÍÛÜ‘õ¾Û 

  (c) ÜÐü¾ÛÛ˜ÛÅÛ ¸ÛóþéùÉÛ  (d) …Áäõ¨ÛÛ˜ÛÅÛ ¸ÛóþéùÉÛ 

 (7) ½ÛÛÁõ©Û¶Ûä× ÍÛÛíé¬Ûà ¸ÛóÛ˜Ûà¶Û …Ûíé²ÛéÜ•Ûïõ ¸ÛóþéùÉÛ _____ ™öé. 

  (a) Ü©ÛÂúÈÛ¶©Û¸ÛäÁõ¾Û  (b) ™öÛé¤øÛ ¶ÛÛ•Û¸ÛäÁõ 

  (c) ïõÅÛïõ«ÛÛ-Ðäü•ÛÅÛà  (d) ÜÈÛÉÛÛ”ÛÛ¸Û¤Õø¤ø¶Û¾Û 

 (¼Û) ”ÛÁäõ ïéõ ”ÛÛé¤äø ›÷¨ÛÛÈÛÛé. 7 

  (1) ¼ÛÛ›÷Áõà¶Ûà ”Ûé©Ûà ¾ÛÛ¤éø ÈÛµÛä ÈÛÁõÍÛÛþù ›÷ÄõÁõà ™öé. _____ 

  (2) ¸Ûé¤ÖøÛéÜÅÛýÛ¾Û ¸ÛéþùÛÉÛ¶ÛÛ ¸ÛÜÁõÈÛÐü¶Û ¾ÛÛ¤éø ¸ÛÛˆ¸ÛÅÛÛˆ¶Û ÈÛµÛä Š¸ÛýÛÛé•Ûà ™öé. _____ 

  (3) ¸Û×›Û¼Û ½ÛÛÁõ©Û¶Ûä× ÍÛÛíé¬Ûà ¾ÛÛé¤ä×ø •ÛÁõ¾Û ïõÛ¸Û¦ø¶Ûä× ïéõ¶®ù ™öé. _____ 

  (4) ÈÛÌÛÙ 2011¶ÛÛ ÍÛé¶ÍÛÍÛ ¾Ûä›÷¼Û ½ÛÛÁõ©Û¾ÛÛ× 51% ÈÛÍ©Ûà ÉÛÐéüÁõ¾ÛÛ× ÁõÐéü ™öé. _____ 

  (5) ¸ÛÜÊ˜Û¾Û ÁéõÅÈÛé¶Ûä× ¾Ûä”ýÛ ¾Û¬Ûïõ …¾ÛþùÛÈÛÛþù ™öé. _____ 

  (6) ½ÛÛÁõ©Û¾ÛÛ×¬Ûà ÍÛÛíé¬Ûà ÈÛµÛä ÅÛÛé”Û×¦ø¶Ûà Ü¶ÛïõÛÍÛ ›Û¸ÛÛ¶Û¾ÛÛ× ïõÁõÛýÛ ™öé. _____ 

  (7) •Ûä›÷ÁõÛ©Û¾ÛÛ×¬Ûà ÿ˜Ûà •Ûä̈ ÛÈÛ«ÛÛ¶ÛÛ ˜Ûæ¶ÛÛ¶ÛÛ ”Û¦øïõ ¾ÛÇé ™öé. _____ 
 

_________ 
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Instructions : (1) Draw diagram wherever necessary. 

     (2) Students can use map stencils. 

 

1. Describe the favourable geographical conditions for ‘wheat’ and ‘paddy’ cultivation in 

India and name region producing it.  14 

OR 

 Write a geographical note on the production and utilization of natural gas and 

petroleum in India.  

 

2. State main Industrial region of India and give information about Industrial Policies. 14 

OR 

 Write a note on chemical and engineering Industries of India in detail. 

 

3. What is the role of transportation in National economy of India ? Out of these give 

details about the development of Railways. 14 

OR 

 Write a geographical note about transportation in India. 

 

4. Give information about interstate migration in India in detail.   14 

OR 

 Explain population density and distribution of India in detail. 
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5. Fill in the blanks with choosing right option.  7 

 (1) Average rainfall required for peddy crop is _____. 

  (a) 200 to 400 mm. (b) 1000 to 2000 mm. 

  (c) 500 to 1000 mm. (d) 2000 to 4000 mm. 

 (2) _____ plateau is richest for mineral in India. 

  (a) Malwa (b) Tibet 

  (c) Deccan (d) Chota Nagpur 

 (3) In India Khetri Project is for production of _____.  

  (a) Iron  (b) Copper 

  (c) Gold  (d) Manganese 

 (4) In _____ state ideal circumstances for Petrochemical Industries are available. 

  (a) Madhya Pradesh (b) Punjab 

  (c) Gujarat (d) Uttar Pradesh 

 (5) In India Railweb is seen in _____ State. 

  (a) West Bengal (b) Maharashtra 

  (c) Uttar Pradesh (d) Gujarat 

 (6) According to 2011 census _____ state of India having less population density. 

  (a) Nagaland (b) Sikkim 

  (c) Himachal Pradesh (d) Arunachal Pradesh 

 (7) India’s oldest Industrial region is _____. 

  (a) Thiruvanantapuram (b) Chota Nagpur 

  (c) Kolkata - Hugli (d) Visakhapatnam 

 (B) State true or false :   7 

  (1) Maximum rain is necessary for cultivation of Bajara _____. 

  (2) Pipeline is more useful for transportation of petroleum products _____. 

  (3) Punjab is India’s biggest center for woolen clothes _____. 

  (4) According to census 2011, 51% of population in India lives in city _____. 

  (5) Ahmedabad is main junction of western railway _____. 

  (6) Maximum export of iron is done from India to Japan _____. 

  (7) High quality limestone is obtained in Gujarat _____.  

_________ 


